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int total = 0;
inti=1;
int total = 0; total = total + i;
total = total + 1; i=i+1;

total = total + 2; total =1t°ta' i
i=i+1;

total = total + i;

total = total + 3;
total = total + 4; i1
total = total + 5; total = total + i;

printin( total ); i=i+1;
total = total + i;
printin( total );
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int total = 0;
inti=1;

total = total + i;
i=i+1;

total = total + i;
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total = total + i;
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total = total + i;
printin( total );
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int total = 0;

inti=1;

while( i<=5 ){
total = total + i;
i=i+1;

}

printin( total );
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int total = 0;

total = total + 1;
total = total + 2;
total = total + 3;
total = total + 4;

total = total + 5;

total = total + 998;
total = total + 999;
total = total + 1000;
printin( total );
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int total = 0;

inti=1;

while( i<= 1000 ){
total = total + i;

i=i+1;

}
printin( total );
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—line( 0, 0, 0, 300 ); .

| 10 200 . line(0, 0, 0,300);
"f”e(lo' ,10,300); line( 10, 0, 10 300 );
— line( 20, 0, 20, 300 ); line( 20, 0, 20, 300 );
— line( 30, 0, 30, 300 ); line( 30, 0, 30 300 );
— line( 40, 0, 40, 300 ); line( 40, 0, 40, 300 );
_line( 50, 0, 50, 300 ): line( 50, 0, 50 300 );
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intx=0;
while( x <= 400 ){

line( x, 0, x, 300 );
Xx=x+10;

}
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— ellipse( x, 150, 50, 50 ); THZ%#<
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void setup(){
size( 400, 300 );

}

void draw(){
intx=0;

while( x <= 400 ){
ellipse( x, 150, 50, 50 );
X =X+ 50;
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void setup(){
size( 400, 300 );
}
void draw(){
background(255,255,255);
int len = 0;
noFill();
while( len <= 400 ){
ellipse( 200, 200, len, len );
len = len + 10;

}
}
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void setup(){

size(400,300);

}

int i=0; HERSIBFREERAD i
void draw(){
background(255,255,255);
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line( x, 0, x, 300 );
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int num=1;
if( (12345 % num) ==
printin( num );
}
num++;
if( (12345 % num) == 0 ){
printin( num );
}
num++;
if( (12345 % num) == 0 ){ :
printin( num ); int num=1;
} while( num<=12345 ){
num++; if( (12345 % num) == 0 ){
' printin( num );

}

if(.(12345 % num) == 0 ){

printin( num );
} num++;

num-++, }
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int num = 1;
int count = 0;
while( num<=12345 ){
if( (12345 % num) == 0 ){
/] 12345ZnumTE|>f=RYM
// 01=2T=HcountZ 107

count++;

}

num++;

}
printin( "$I& D (I" + count );
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intx=0;

while( x <= 400 ){ for( int x = 0; x<=400; x+=10 ){
line( x, 0, x, 300 ); line( x, 0, x, 300 );
X=x+10; }

}




